BRXIFE REtEE

( RG64A ~ R73RA )
XHRS ix @) Zi&sE (D

BB 10 52,875
BHREE 0 0
- 9 83,600
B 9 93,200
REL 0 0
Dtk 3 47,600

& &t 31 271,275




*MIE A%

BRXFR TR

&5 | XHEAH XHRES Xk, AEF B&. Y05 X () 1]
1 R7.3.11 BBl EESKETRBE LR ¥ 5,000
2 R7.3.16 B HRESET RREFELRML ¥ 5,000
3 R7.3.21 = NMET L RSB mE R& 5,000
4 R7.3.23 B RESHT RoB & LRl ¥ 5,000
5 R7.3.25 - AL TEHGEES SRR RES R& 4,000
6
7
8
9
10

& & 24,000




*MIE 2A%

BRXFR TR

&5 | XHEAH XHRES Xk, AEF B&. Y05 X () 1]
1 R7.2.13 = NN XRREFERARIHESR R& 10,000
2 R7.2.28 ES AR B RiFthE SHMOEERE R& 10,000

10

op

Elil_l

20,000




*MIE 1A%

BRXFR TR

&S

XHEAR

XHRES

Xk, AEF

B&. Y05

X ()

—

R7.1.31

BEH

¥

4,575

10

op

Elil_l

4,575




[H6E 12A%

BRXFR TR

&5 | XHEAH ZHR5S Xk, AEF B&. Y05 XihE®E (D) 1]
1 R6.12.10 Lok THASHBAEEHT R R& 10,000
2 R6.12.26 B THEREE FEETE ¥ 13,200
3 R6.12.26 a0 ] HRTEAH I BE (456D ¥ 36,600
4 R6.12.26 B J ADE < BIAL30EF R Z 1M ¥ 5,000
5
6
7
8
9

10
& &t 64,800




[H6E 1A%

BRXFR TR

&5 | XHEAH XHRES Xk, AEF B&. Y05 X () 1]
1 R6.11.5 Lok ETH B B EE R& 10,000
2 R6.11.8 B ExSEREEEER R& 10,000
3 R6.11.14 Lok THASHBAEET R R& 10,000
4 R6.11.15 B REDTE B EFE LR ¥ 5,000
5 R6.11.24 E-3 -1 FREMSFFISFFRESAREE R& 10,000
6
7
8
9

10
& & 45,000




[H6E 10A%

BRXFR TR

&S

XHEAR

XHRES

Xk, AEF

B&. Y05

X ()

—

R6.10.15

BEH

2% YRES (FRE)

¥

4,575

R6.10.30

B

MELTRAERKFEERETR

R&

10,000

10

op

Elil_l

14,575




fMeE 9AS

BRXFR TR

&S| XHFAH XHRS Xk, AEF Be&. BYoR | XZ&®E () ]
1 R6.9.13 BEH Br&E&EYRERV (AEs) ) 4,575
2 R6.9.13 EH MMELTH20BFERSML LTEY) 5,000
3 R6.9.16 =8 BT @SERMENESS B& 10,000
4
5
6
1
8
9

10
& &t 19,575




fMeE 8ASN

BRXFR TR

&S

XHEAR

XHRES

Xk, AEF

B&. Y05

X ()

—

R6.8.15

BEH

FEERYREHRL (ARE - &8)

¥

9,150

R6.8.28

B

ETEBE (R SRR E

R&

10,000

10

op

Elil_l

19,150




fTMeE TAS

BRXFR TR

&S| XHFAH XHRS Xk, AEF Be&. BYoR | XZ&®E () ]
1 R6.7.12 D1t BIRTOBEBAHENE B& 10,000
2 R6.8.3 E3 -1 EHEERYESE R& 13,000
3
4
5
6
1
8
9

10
& &t 23,000




[MeE 6A%

BRXFR TR

E5| XHEAH XHRES X%k, NEF B&. RVOR | ZLEE (F) &
1 R6.6.27 = eRRE L DBBE B& 6,600
2 R6.7.3 B MES BB R KFHTH R& 10,000
3
4
5
6
1
8
9

10
& &t 16,600




fMeE S5ASH

BRXFR TR

#3| XHEAR XHE S X%k, NE% B, SNOH | XLEE (F) i
1 R6.5.2 Lok EIRETEE S R BTN R& 10,000
2 R6.5.17 04t [FKERELERF > P R& 1,000
J Ressi an  [QJRETERES (FRCFERBARR e 15,000
4
)

6
7
8
9
10
& & 26,000




fMeE 4A%

BRXFR TR

&S

XHEAR

XHRES

Xk, AEF

B&. Y05

X ()

—

XPITEL

10

op

Elil_l




